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2.  The Test Booklet contains 150 questions. Each question carries two marks.
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. 3. The Question Paper is set in English and translated into Telugu language. The English version will
be considered as the authentic version for valuation purpose.

[5%) SB50 RRWS° BairsHdohad Beord raSs BRI DADABB. IDrE SBE0 Teus
DafHHE BoAN (5%) HBH0 (BIrB R0 EDER.

4. The Test Booklet is printed in four (4) Series, viz. [A][B][C][D]. The Series, [A]or [Blor [C] or [D] is printed
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If you have not marked the Test Booklet Series at Part C of side 1 of the Answer Sheet or

marked in a way that it leads to discrepancy in determining the exact Test Booklet Series,

then, in all such cases, your Answer Sheet will be invalidated without any further notice.

No correspondence will be entertained in the matter.
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5. Each Question is followed by 4 answer choices. Of these, you have to select one correct answer and
mark it on the Answer Sheet by darkening the appropriate circle for the question. If more than one
circle is darkened, the answer will not be valued at all. Use Blue/Black Ball point pen to make heavy
black marks to fill the circle completely. Make no other stray marks.
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EBIT-EPS analysis is done to determine
(1) Leverage

(2) Liquidity

(3) Profitability

(4) Financial stability

Increase in financial leverage

(1) Decreases probability of technical
insolvency

(2) Increases probability of technical
insolvency

(3) Increases liquidity

(4) No impact on solvency

Degree of combined leverage may be
obtained as

(1) DOL/DFL

(2) DOL x DFL
(3) DOL+ DFL
(4 DOL-DFL

The concept of optimum firm is
propounded by

(1) EAG Robinson

(2) Sargenet Florance
(3) Pigou

(4) Alfred Marshal

A congregation or body of persons
assembled at a particular time and place
for economic purpose is known as

(1) Firm

(2) Plant

(3) Industry
(4) Church

10.
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Lamp unit of HMT Ltd, lamps division
of Phillips, Lamps plant of Bengal lamps
together can be called as

(1) Electrical industry

(2) Multiplant unit

(3) Afirm

(4) Multi plant public sector unit

When the marginal cost curve intersects
with marginal revenue curve from down
side, the firm is said to be in :

(1) Equilibrium position
(2) Optimum position
(3) Representative position

(4) Break even position

The concept of ‘Representative firm’ is
propounded by

(1) Alfred Weber
(2) EAG Robinson
(3) Alfred Marshal

(4) Sargeant Florance

Concept of joint sector was introduced
by the

(1) S.C. Dutt committee
(2) Ranga Rajan committee

(3) Narasimham committee
(4) Gadgil committee

The extent of fall in sales after which
the firm starts suffering any loss is
indicated as

(1) Profit margin
(2) Margin of safety
(3) P/V margin

(4) Sales margin
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12.

13.

14.

15.

Other things beings equal, the impact of
a reduction in variable expenses would
be

(1) Reduction in B - E sales

(2) Increase in B - E sales

(3) Reduction in fixed expenses
(4) Reduction in sales

Contribution /EBIT is a measure of

(1)

Cost volume profit relationship

(2) Margin of safety
(3) BEP
(4) Degree of operating leverage

The rate of return foregone on an

alternate  investment proposal is
referred to as the

(1) .implicit cost of capital

(2) explicit cost of capital

(3) over all cost of capital

(4) risk cost of capital

The cost of each source of capital is

(1) Specific cost
(2) Average cost
(3) Weighted cost
(4) Market cost

The impact of tax deductibility of debt
cost is

(1) cost of equity is reduced

(2) cost of debt is increased

(3) cost of retained earnings is
reduced

(4) cost of debt is reduced

16.

17,

18.

19.

20.
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The cost of external equity would be
different from share holders’ required
rate of return

(1) if issue price is same as market
price

(2) if issue price is at a premium
equating it to market price

(3) 1if issue price is different from the
market price

(4) if 1ssue price is less than market

price

In capital expenditure decisions for a
new project, the appropriate criteria for
selection would be

(1) simple average cost of capital

(2) weighted average cost of capital

(3) weighted average cost of
incremental capital

(4) historical cost of capital

Optimum size is one at which

(1) Costs and revenues are equal

(2) Earns normal profits

(3) Minimum average cost per unit is
achieved with maximum efficiency

(4) Has fairly long life

The process of withdrawing one’s stakes
either in full or part by the government
is called

(1) Privatization
(2) Disinvestment
(3) Sales

(4) Lease

‘Representative firm is one which

(1) has a fairly long life
(2)  has a fair success
(3) has normal access to internal and

external economics

(4) all the above
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25.
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Exporter’s grievance cell was set up
under

(1) EXIM policy 1987 — 92
(2) EXIM policy 1992 — 97
(3) EXIM policy 1997 — 2002
(4) EXIM policy 2002 — 07

When the municipalities delegate the job
of cleaning the streets to private
agencies, it is called

Operational strategy
(2) Outsourcing the activities
(3) Leasing
(4)

Privatization

Which of the following can be used to
compute working capital requirements?

(1) Patents

(2) Buildings

(3) Goodwill

(4) Raw Materials

A plant is

(1) Owning and managing an
establishment

(2) A congregation or body of persons
assembled at a time or place for
economic purpose

(3) Machinery

(4) Group of plants

Optimum size is not practically

achievable because :

(1) The determinant factors change

(2) Requires constant reconciliation of
factors

(3) Impact of factors are varying in

nature

(4)  All the above

(8)
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27.
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Weight loosing materials results in
(1) dispersal of industries
(2) attracting plant to source
(3) concentration of industries
(4) noimpact on location
The father of Administrative

Management is considered to be

(D

Sargeant Florence

(2) Alfred Waber

(3) Fredric Taylor .
(4) Hendry Foyal

State industrial policy aims at

(1) promotion of Industries

(2) control of Industries

(3) regulation of Industries

(4) all the above

One of the identified distinction between
managers and leaders is

(1) develop - innovate

(2) focus on structure - focus on people
(3) imitates - maintains

(4) originates - develops

Fiedler's contingency  model  of

leadership effectiveness does not deal
with

(1) Member relationship
(2). Traits

(3) Task structure

(4) Power position
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32,

33.

34.

35.

Emerging transformational leaders
follow :

(1) Inspiration

(2) Management by exception

(3) Laissez- faire

(4) Management by objections

Among the following which is not a
generally accepted trait of leadership

(1) Self-discipline
(2) High education
(3) Integrity

(4) Intelligence

Which is not a quality of a good leader?
(1

Inner drive

(2) Mental maturity
(3) Emotional Balance
(4)

Pushing followers

Training is to operatives as development
is to

(1) Top and middle level managers

(2) Sales personnel

(3) Administrative personnel

(4) Workers

Emerging knowledge based

organisations are characterised by

(1)

Network of specialists

(2) Vertical division of labour

(3) Knowledge workers replacing
operatives

(4) All the above

(10)
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39.

40.
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The impact of information and
technology on organisation has resulted
in

(1) Right sizing

(2) Paper less revolution

(3) Lesser interpersonal contacts
(4) all the above

Among the following which does not
indicate a motivation process

(1) Physiological or psychological
imbalance :

(2) Alleviation of need

(3) Want satisfaction

(4) Need restoration

Which 1s not a work motivation

approach?

(1) X theory

(2) Content theory

(3) Process theory

(4)  Cognitive theory

What does not represent a motivation

process?

(1) Valence - expectancy

(2) Job - satisfaction

(3) Performance - satisfaction
(4) Effort - reward - outcome

Which is not a formal group?

(1) Committee

(2) Teams

(3) Reference group
(4) Department
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41.

42,

43.

44,

45.

(12)

A factor not contributing to group
effectiveness is

(1)
(2)
(3)
(4)

Valency

Proficiency

Task interdependence
Outcome interdependence

One of the following is a measure of
efficiency identify

(1)
(2)
(3)
(4)

No. of workers employed
Raw material consumed
Profitability

Power consumed

According to one view, teams are said to
differ from work group due to

(1)
(2)
(3)
(4)

Focused leadership role
Collective work products
Working together
Efficient meetings

One of the following is a diseconomy of
multi-plant units. Identify

(1)
(2)
(3)

(4)

Economies of scale

Bulk purchases

Chain effect of wage revision of one
unit .
Inter-plant transfer of goods

The essential characteristic of planning

15

(1)
(2)
(3)
€]

link  between
achievement

determination of objective
deciding organisational variables
deciding the tools to be used

objective  and

46.

47.

48.

49.

50.
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Organising is

(1

(2)
(3)

(4)

choosing among alternate courses
of action

determining staff to man position
determining
activities

and grouping of

motivating people

When the . location of two units is
planned at one place, it is termed

(1)
(2)
(3)
(4)

Locational coupling
Split location
Duopoly

Joint venture

Control mechanism intends to verify

(1)
(2)
3)
(4)

Quantity and Quality

Cost

Time

Cost, Time, Quality and Quantiﬁy

Which among the following is not an
element of control process?

(1) setting basis

(2) correcting deviation

(3) measuring actual

(4) establishing relationship

To make planning effective it is

incorporated with

oY)
(2)
3
(4)

accurate forecasting
planning premises
contingency planning
standard planning
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51.

52.

53.

54.

55.

(1)

Controls may become ineffective if
() itis flexible

(2) it 18 uneconomical

(3) it is not understandable

(4) deviations are expeditiously

reported

Settlement methods of dispute may be

(1) conciliation |

(2) arbitration

(3) conciliation and arbitration

(4) negotiation

Collective bargaining may be considered
as a

dispute prevention mechanism
(2)
(3)
4)

dispute elimination mechanism
dispute creating mechanism

dispute adjourning mechanism

The legal machinary for settlement of
disputes 18

(1) Labour courts
(2) Conciliation
(3) Arbitration
(4) Negotiations

When more number of agriculture
workers are engaged than the number

that more land can bear, interms of .

productivities, we say following is
present?

(1) Under employment

(2) Full employment

(3) Disguised unemployment

Structural unemployment

“4)

(14)

56.

57.

58.

60.

59.
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Decentralisation is beneficial in?

(1) Utilization of personal leadership
advantage
(2) Uniformity in action
(3) Facilitating growth and
 diversification
(4) Avoiding duplication of efforts .

A private limited company

(1) Allows free transfers of shares

(2) Prohibits the transfer of shares

(3) Restricts the transfer of shares,

. through conditions

(4) Leaves it to the discretion of
directors to permit transfer or not

On which of the following counts

decentralisation differs from delegation

(1) dispersal of not only authority but

also other facilities

(2) systematic delegation to enjoy
autonomy

(3) concentration

(4) shifting of premises

Congenial organisation climate is said to
exist when there is

(1) sell restraint and control
(2) co-ordinated approach
(3) mutual trust and help
(4) all the above

Systems approach of organisation
emphasises

(1) Vertical relationship
(2) Lateral relationship
(3) Horizontal relationship
(4) Synergy
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63.

64.

61.

62.

Contingency approach of organisation
theory suggests that organisation design
be

(1)  typical
(2) common

(3) tailor made

(4) firm

Organisation chart is expected to
disclose

(1) formal relationships
(2) informal relationships
(3) channels of formal authority

(4) relative authority

Organisational conflict leads to

(1) Creativity and innovation

- (2) Group cohesion

(3) Tension

(4) Teamwork

Span of supervision deals with the
problems of

(1) Horizontal dimension
(2) Vertical dimension
(3) Lateral dimension

(4) all the above

(16)

65.

66.

67.

68.
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Span of management is determined by
(1) Capacity of supervisor

(2) Capacity of subordinates

(3) Degree of decentralisation

(4) All the above

Authority involves

(1) Subordinate - subordinate
relationship

(2)- Superior — subordinate relationship
(3) Superior — superior relationship i

(4) All the above

Power does not deal with

(1) Informal command

(2) Sense of obligation
(3) Identification with the manager

(4) Perceived dependence on a
manager

One of the following Act intended for
controlling large industrial houses is
repealed now. Identify

(1) SEBI Act
(2) Sick Industrial Companies Act

(8) Consumer Protection Act

(49 MRTP Act 1969



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 § [Aas

LD/708 (17)
61.  eroBos E¥K0E" SraS S553 derossn | 65. S 5 963 Se DianosnthBosd

SR BB eTHOTEOD 908 (1) SEBEOD B0gsdoo

(1) 28 855S° dod - (2) (808 &By0e SRV

(2) Wi sowd . (3)  980888es Fpow

(B)  @IJTRVED Mo &otd 4 2 QTG

i (4)  Roreid, Nreso, SrdyBepmsr

&0G>E) :

1 : 66. “efsEin” HB8 ¥enHHoenos

() (Eod &8%A - &6%AE Ko Somotsan

62. bga’)é) 2830 808 3)31055"?\)@1 B3B8 _ :

(2) D @858 - 1508 ofsBe 20
OO0 :

(B) D efsB-2 a@?g ;‘nﬂﬁé RORIOSHD

@) P Boreeioy

- es3mw _
(1) erodd prad Soxopren
(2) ©roPd |PFAoSE Doworren
(3) 0o Prad BFTE ST
(4) ¥ efsEan

67. 556 808 o630 DTGB

63. SEIPIEE Sages 808 T38 S (1) erodd a0 5°0 esBEa0
(1) Sysoress, 5550y (@) sESy e Db 3D
(2) RrDorErs Jowd (3) JUFFHVE Kr& K80
(3) B8 _ (@)  ATEFHIY BEEIEHen (rodto

(4)  eeym b ¥e%n Tor bl To)

68. 808 OIS a¥ YEIH DEIBEE

64. SPE  ©98 o8  Sudgeid Kyo dALOBRD 8008, ARPED 8B -
A8, 060008 : ; 6&0) Dohaados.
(1) SHode 5630 (1) SEBI 8¢
@ &8s 5887830 (2)  FraeFDED PBFEE Sonde B
3’ M@g 2830730 (3) JOABNTS BEgs :)eég;‘m
(4) e SBaTeTeR | (4) MRTP g0 1969



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

69

7.

71.

72.

Delegation of authority is

(1) A factor in a process of organising
(2) A base for decentralisation

(3) Power to carry out responé_ibi]ities

(4) Al the above

Which is not a principle of delegation

(1) Party of authority and

responsibility
(2) Delegation of responsibility
(3) Maintenance of authority levels

(4) Formal relationship among

authority levels

Effective delegation takes place through
(1) ‘not-invented — here’ policy

(2) tight control

(3) love of au.thority

(4) lack of delegation

Line authority is characterised by

(1) only downward authority
(2) only upward authority
(3) only lateral authority

(4) only advisory

(18)

73.

74,

75.

76.
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Staff authority is characterised by

(1) Sealar principle
(2) Direct h'nel

(3) Advisory

(4) Functional

One of the following is a propulsive
industry form which industrialization
spreads. Identify

(1) Bakery unit

(2) Beed making unit
(3) HMT Ltd

(4) Rice Mill

Functional authority exists when

(1) line superior empowers staff the
authority to act

(2) staff adviser transmits and
recommends line manager

(3) staff are empowered to issue
orders

(4) all the above

Line - staff conflict can be resolved not

(1) . proper use of staff
(2) complete staff work only

(3) effective communication among
line and staff

(4) Proper coordination among line
and staff '
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A sugar manufacturing unit takes up
the production of chocolates also : This is
called

(1) Vertical business
(2)  Diversification of business
(3) Horizontal business

(4) Conglomeration business

T-Group training is an example of
(1) brain storming .

(2) sensitivity training

(3) role playing

(4) management games

Inductive method is used in explaining.
location theory by

(1) Alfred Weber

(2) Peroux |

3) 'Sargent Florance
(4) Alfred Marshall

According to Industrial policy statement
1991, a small scale unit is one

(1) Which employs more 20 employees

(2) Where capital investment is less
than Rs. 5 lakhs

(3) Where capital investments is less
than 3 crores

(4) Which is linked to another big unit

(20)

83.

81.

82.

GET IT ON
Google Play
LD/708

Principal barriers to effective appraisal
are

(1)  halo effect
(2) raters bias
(3) central tendency :

(4) all of above

The relationship between morale and

productivity may be described, as having
(1) absolute relation

(2) some positive correlation

(3) some negative correlation

(4)  directly proportional

Which of the following is a private sector

multiplant unit?

(1) HAL

(2) HMT

(3) Reliance petrochemicals Ltd

(49 BHEL
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84. Morale is more associated with 88. Net worth of business means
(1) emoltional aspects of individuals on ) - Bauity capital
the job
(2) emotional aspects of groups on the (2) Total assets
job '
(3) rational aspects of individual (3) Total assets minus total outsiders
aspects

liabilities
(4) jobenrichmants participation

(4) Fixed assets minus current assets

85. Semantic barriers in communication
arises due to

89. The fl f fund 1 id to h tak
(1) badly expressed message e flow of fund is said to have taken

place when
(2) premature evaluation

(3) poor retention (1) Cash paid to Creditors

(4) nﬁ expression

(2) Cash received from Debtors

(3) Mach.inery is purchased for cash

86. Grapevine is an example of
(1) formal communication (4 When a bill is discounted

(2) informal communication

(3) written communication

(4) pictorial communication 90. Contribution means

(1) Sales less fixed cost

87. Stock turnover ratio is a (2) Fixed cost less profit
(1) Liquidity ratio
(2) - Profitability ratio (3) Fixed cost plus profit

(3) Solvency ratio
(4) Variable cost plus profit

(4) Performance ratio
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“A budget designed to furnish budgeted
costs for any level of activity actually
attained” is called

(1) Cash budget
(2) Flexible budget
(3) Master budget

(4) Pmduction'budget

Liquid liabilities include

(1) Creditors only

(2) Creditors and debtors

(3) Creditors and unpaid expenses

(4) Bills payable and bills receivables

Which of the following item is not an
operating expense?

(1) Salary
(2) Depreciation
(3) Income tax

(4) Lease rental

The ability of a company to meet its
short-term obligations is known as

(1) Liquidity
(2) Solvency
(3) Profitability

(4) Trading on equity

(24)

95.

96.

97.

98.
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Marginal cost means

(1) Additional Cost
(2) TFixed Cost

(3) Opportunity Cost
(4) Sunk Cost

Working capital is the excess of

(1) Fixed assets over fixed liabiiities

(2) Fixed assets over current assets

(3) Current assets over current
liabilities

(4) Current assets over fixed Liabilities

NPV and Profitability Index methods
give different results when

(1) Investments differ

(2) Investments are same
(3) Period differs

(4) Profitability differs

Cost of retained earnings is calculated
by taking

(1) Opportunity cost

(2) Explicit cost

(3) Specific cost

(4) Implicit cost
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99.

100.

'(4) None of the above

(26)

In the context of share buy-back option,
the method of calculating cost of equity
is

(1) Dividend approach
(2) Dividend plus growth approach

(3) Earnings approach
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103. Defect of the trade union movement in

India is
(1) Loyal to workers
(2) Full time paid officer

(3) Poor finances

(4) Multi unions and inter union
Pay back method is applicable in case of  rivalry
(1) shortage of funds
(2) excess fund
" (8) threat of new technology
@ * Bund Bveidnn 104. Trade union movement gets
strengthened through

101.

102.

(2) Government organizations

66 percent of the sick units become sick
due to one of the following causes as
per the RBI study group (Tiwari
committee) report

(1) Marketing problems
(2) Mis management
(3) Power problems

(4) Workers strikes

Trade unions are - of
workers to promote and protect the
interest of workers through collective
action. (Tick the correct choice which
can fill the above blank)

(1) Voluntary organizations

(3) Industrial organizations

(4) Compulsory organizations

(1) Money investment
(2) Reducing the numbers
(3) Eliminating political interference

4) Employers

105. The main cause of industrial disputes in

India is

(1) Diserimination of workers.
(25 Indiscipline

(3) Wages and allowances

(4) Retrenchment
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106. Lock out is declared by

(1) Workers

(2) Law

(3) - Government
(4) Employvers

107. Wage representing a standard of living

for maintenance of health and decency is

known as

(1) Fair wage

(2) Living wage

(3) Real wage

(4) Minimum wage

108. Main objectives of national wage policy

1s not

(1) to ensure minimum wage

(2) to prevent exploitation of labour
(3) to provide tax benefits

(4) to reduce wage differentials

109. Social security scheme is not present in

one of the following

(1) Provident funds
(2) Conciliation
(3) Pension scheme

Gratuity scheme

4)

(28)

110.

111.

112,

113.
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Unity, ability to negotiate, collective
action, strength of information are the
features of

(1) Collective bargaining

(2) Worker's participation in
management

(3) Strike

(4) Lobbying

National rural employment guarantee
program is started in the year

(1) 1980
(2) 2004
(3) 1991
(4) 1996

Employment generation is not possible
through

(1) Economic infrastructure

(2) Expansion of social infrastructure

(3) Urbanization and dis-investment

(4) Financial sector

Employment guarantee as NREGP

refers to

(1) Payment of Rs. 6,000 per family
per year

(2) Work allocation

(3). Unemployment allowance

(4) Full employment
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116.

The appropriate government has been
empowered to appoint U/S 4 of the
Industrial Disputes Act 1947, a/an

(1) Inspector

(2) Coneciliation officer

(3) Health officer

(4) Health inspector

The appropriate government may

constitute a court for enquiring into
matter appearing to be connecting with

or relevant to an industrial dispute, it 18
called

(1) Health inspector
(2) Negotiator

(8) Court of inquiry
(4) Commissioner

The duty of works committee is

(1

to endeavour to compose
material difference of opinion

any

to allocate work

(2)
(3)

to give wages

(4)

to allocate bonus

(30)

119,

118.

3119,

120.
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When a worker absents himself without
any information when he is scheduled to
be present it is termed as

(1) Turnover

(2) Absenteism

(3) Lay out

(4) Labour mobility

Causes for absenteism in Indian does
not include

(1) Working conditions
(2) High wages

(3) Seasonal factors
(4) Festivals

Workers participation in management
becomes more successful when

(1) Workers do not have unions

(2) Wherever the collective bargaining
is weak

(3) Pressure groups and negotiations
are active

(4) Workers and management trust

each other and share complete
information

Balanced regional development does not
seek to encourage

(1) Location of industry

(2) Concentration of industries
(3) Dispersal of industries

(4) Industries in Backward areas
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121. One of the following cannot be discussed
in workers participation in management

(1) Wages and bonus for workers

(2) Working conditions

(3) Productivity . improvement
measures

(4) Computerization of work

122. One of the following cannot be a cause of
unemployment in India in a given

environment

(1) High population

(2) Lack of required skills
(3) Frictional unemployment
(4) Agricultural productivity

123." Union of workers of belonging to the
same occupation is

(1) Craft union

(2) General union

(3) Industrial union
(4) Independent union

124. Training is necessary for

(1) New employees only

(2) Existing employees only

(3) New and existing employees
(4) Employers only

(32)

125.

126.

127.

128.
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The relative worth or money value of a
job is determined by

(1) Job Analysis

(2) Manpower planning
(3) Job Evaluation

(4) Job enrichment

A sound relationship between the
employee and his job is established by a
sound

(1) Man power planning

(2) Recruitment process
(3) Training
(4) Development

Scientific method study is also known
through :

(1) Motion study

(2) Work simplification
(3) Emotional study
(4) Psychological study

Time study is other wise known as
(1)
(2)

(3) Overtime

ABC Analysis

Work measurement

(4) Work simplification
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129. Efficient management of incentives may

130.

131.

132.

(@)

(34)

result in

(1) Less profit margin
(2) More profit margin
(3) No effect in profit
(4) No profit margin

134.
Process layout is otherwise called
(1) Product layout
(2) Functional layout
(3) Line layout
(4) Factor layout
Financial decisions involve
135.
(1) Investment, financing and
dividend decisions
(2) Investment, financing and sales
decisions
(3) Financing, dividend and cash
decisions '
(4) Sales, cash and investment
decisions
136.

Cost of capital comprises

(1) Market risk
(2) Financial risks
(3) Business risks

Financial and business risks
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133. A high BEP would indicate a

(1) High financial leverage
(2) Low financial leverage
(3) High operating leverage
(4) Low operating leverage

Over capitalization is indicated by

(1) . High proprietary ratio
(2) Low proprietary ratio

(3) I_{igh Debt to equity ratio
(4) Trading on equity

The cost of capital of the firm is

(1) Minimum rate of return
(ﬁ) Maximum rate of returns
(3) Normal rate of return

(4)  No rate of return

Which one of the following is connected

with cash management?

(1) EOQ

(2) Net float

(3) Idle time

(4) Trade discount


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

24

LD/708

129. o)rse  SEI0EDND DT (8ob

DesorT $OeR) S5

(1)
(2)
(3)
(4)

130.
(1)
(2)
3)
(4)

131.
(1)

(2)

(3)

4

LD eSSBS
8D & S8

erghnd O Berdsor S5sdw

&8s E’)J"QS BEIEH

P80 B e99eSio & DiorT Heodrdd

5109 8 oS

DY /S5 B enes
Be 8 ePed

555 & endyeS

esgg x:goimes“ 29 &0eF0N

?oe%a)m& DE0 SO J20ETE)

%S¢0, &agodh dYaLTes SuE o

i}é.:éga)c%, esg§ SHBe  DAESes,
@:D&S';Q) Qairen

eﬁgé JHB® D88, EDBo, SHE
DEasren Hu8%o

@DysPey, N Z)&Ba)& dFasTren

H08%¢o

132. S0oETR3ay H50%006° dot wowen

(1
(2)
(3
(4)

SRR EVs tafer Sh M
es85 SHEaBw

TS HEsaHm

e-.ags’, ::°§§>=t$ K)Qﬁioi?m

(35)

133.

134.

135.

136.

GET IT ON
Google Play

o5 POl Doy K Yo

BOABEDOS
(1) B¢ efs 585
(2) o) eds 508

(3)
(4)

¥ DEEH O5EE
ooy DB 9588

@8  DUreddEss
BdoDaci08

(1) 85 diradordg dHS
(2) oo dir"asm%é DS
(3)
(4)

e85 208, éﬂﬁogéﬁ DS
Sa8eedp HEEI

25 503 weéégcﬁ)a 50500 9083
(1) 5D B8t

(2)
(3)
4)

KB 385 eBen
by ovie 1 W1 P01 STe] BV
@He) HHHe B B B

DB DB’ HSowoo ¥ORHB 808

TRS® 563 B80S0l
() EOQ
(2) Q58 Hddsw

(3)
(4)

éﬂ)q:‘s;“em
D88 c‘pavboe.u

o8 0y oxor


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

5 Adda2477

GET IT ON
Google Play

[A] (36) LD/708

137. Trading on Equity is a situation where
ROI is

(1) More than cost of debt
(2) Less than cost of debt
(3) Equals cost of debt

(4) Nothing to do with debt

138. EBIT level at which EPS remains the
same irrespective of the debt-Equity mix
is termed as

(1) Break Even Point
(2) Critical point
(3) Point of Indifference

(4) Optimum point

139. Arbitrage process is the operational
justification for

(1) Relevance model
(2) Irrelevance model
(3) Traditional model

(4) Operational model

140. The term ‘funds’ as used in funds flow
statement is

(1) Current assets

(2) Cash

(3) Working capital
(4) Current liabilities

141. Which of the following is not a source of
fund?

(1) Purchase of machinery
(2) Profit earned
(3) Issue of share capital

(4) Loan raised

142. Depreciation of machinery is
(.1) Source of fund
(2) Application of fund
(3) Both (1) and (2)

(4) None of the above

143. Period costs are otherwise known as
(1) Variable costs
(2) Fixed costs
(3) Semi-variable cost

(4) Marginal costs
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144.

145,

146.

147.

Contribution margin is also known as

(1) Gross profit

«(2) Netincome

(3) Marginal income

(4) Average profit

The basic difference between Absorption

costing and Marginal costing can be
traced by looking into

(1) Sales

(2) Fixed cost

(3) Variable cost
(4) Marginal cost

The first step in preparing a Budget is
(1) Cost estimation |
(2) Sales forecast

(3) Production forecast

(4 Working capital

In the long term financial analysis the
stress is on

(1) Working capital

(2) Earning potential

(3) Stability of earnings potential of
the concern

(4) Liquidity position of the firm

(38)

149.

150.

(1)

(2)

(3)

4
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148. Discounted cash flow is a Technique of

Cash flow Analysis
Cash management
Capital Budgeting

Cost of capital

Statistical Quality Control is a part of

(1)

2

(3)

(4)

Materials management

Production management

Marketing management

Personnel management

Which one of the following is correct?

(1)

(2)

(3)

- (4)

Location precedes layout
Layout precedes location
Both are concurrent

Both conflicting each other
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